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 Two numbers x and y have a geometric mean 

of 12 and an arithmetic mean of 12.5.  Find the 
sum of the squares of x and y. 
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 Todd and Calvin start cycling from the same 

point but in perpendicular directions.  Todd 
and Calvin are traveling at 30 miles/hour and 
24 miles/hour, respectively, and they travel 
for 48 minutes and 25 minutes, respectively.  
They then both begin at the same time 
traveling toward each other, both at 12 
miles/hour.  How many minutes will it take 
them to meet? 
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and 24 feet.  From the top of each pole, a wire 
is stretched to the base of the opposite pole.  At 
what height above the ground, in feet, do the 
two wires cross one another? 
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 A regular hexagon is circumscribed about a 

circle whose radius has length 9 units.  Find 
the area of the region inside the hexagon and 
outside the circle. 
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 A triangle has a circumscribed circle whose 

radius is 8 more than twice the length of the 
radius of the triangle’s inscribed circle.  If the 
distance between the centers of these two 
circles is 12, find the length of the radius of the 
circumscribed circle. 
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in the word BOOKKEEPER are there? 
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